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CONSUMER STUDIES (NOVEMBER 2011)

INSTRUCTIONS AND INFORMATION

1.

SECTION A, B, C and D are compulsory. Choose ONE question from
SECTION E, according to the practical component you have done.

SECTION A must be answered on the ANSWER SHEET provided.

Number your answers correctly according to the numbering system in this
guestion paper.

Begin each question on a NEW page.

Write neatly and clearly.
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SECTION A

QUESTION 1

1.1

Various possible options are provided as answers to the following
guestions. Choose the answer and make a cross (X) in the block (A — D)
next to the question number (1.1.1 — 1.1.23) on the ANSWER SHEET. No
marks will be awarded if more than ONE cross (X) appears for an answer.

1.1.1  Afinancial plan for a family over a given period is a/an ...

A estimated expense.

B household budget.

C bank statements.

D estimated income. (1)

1.1.2 The self-regulatory body that deals with complaints of unfair
television advertisements is ...

A ASA.

B NHBRC.

C  RML

D  SABS. (1)

Study the budget of a newly married couple, Faith and Leon, and answer
questions 1.1.3 - 1.1.5 that follow.

Income Expenses

Faith’s monthly wage R3 500,00 | Rent per month R2500,00

Leon’s salary (after deductions) | R6000,00 | Car payment R1300,00

Faith’s income (from baking) R350,00 | Insurance R1225,00
Gym membership R245,00
Restaurant meals R300,00
Cellphone contract and
calls R450,00
Groceries R1000,0
Municipal account R600,00
Savings R20,00
Movie tickets R90,00
Clothing account R1 000,00
Repayment of Leon’s
student loan R1 200,00

TOTAL INCOME R9 850.00 | TOTAL EXPENSES R9 930,00

1.1.3 Leon’s salary after deductions is called ... salary.

A annual

B gross

C fringe

D net (2)
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1.14

1.15

1.16

1.1.7

1.1.8

Identify the couple’s fixed expenses.

Rent, car payment, insurance and cellphone contract.
Rent, insurance, clothing account and student loan
repayment.

Rent, car payment, municipal account and cell phone
account.

Gym membership, restaurant meals, savings and movie
tickets.

Select from the following statements the combination of reasons
why their budget is unsuccessful:

o gk wnNE

A
B
C
D

It prevents impulsive spending.

The expenditure exceeds the income.

It does allow for saving.

It does not pinpoint their spending plan.

It does not enable them to cope in emergencies.

It should make provision for the family’s long-term plans.

1,2and 5
1,3and 4
2,5and 6
4,5and 6

Which of the following food has the lowest Glycaemic Index (GI)?

A
B
C
D

The vitamin that helps maintain a healthy mucous membrane is ...

o0Ow

Brown rice

Samp

Brown bread

Two minute noodles

vitamin D.
vitamin C.
vitamin Bj.
vitamin A.

Teenage girls and boys need the same amount of ...

ocOw>

calcium and phosphorous.
magnesium and sodium.
magnesium and zinc.

zinc and phosphorous.

(2)

(2)

(1)

(1)

(1)
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1.1.9

1.1.10

1.1.11

1.1.12

1.1.13

1.1.14

1.1.15

Which of the following will improve a person’s appetite?

A
B

C
D

Beef and spinach
Chicken and bananas
Oranges and beetroot
Carrots and potatoes

Proportion is the design principle where ...

A

UN@]

ocoOowm>» >

the size of one part of an outfit is relative to the size of
another part of the outfit.

the size of one part of the oultfit is the same as the size of
another part of the same outfit.

all the parts of the outfit form a unit.

different parts of the outfit can be used separately.

.. is formed when white is added to a colour.

hue
tint
tone
shade

The intensity of a colour refers to the ... of a colour.

o0 ®>

lightness
value
darkness
brightness

These colours create a feeling of warmth:

o0 wm>

Blue and yellow
Orange and red
Green and purple
Pink and white

The price label has details of the ...

o0 wm>

store name and size of the garment.
fabric construction and product code.
care symbols and quality.

fibre content.

Small shops that sell either a specific brand label of clothing or an
exclusive range of clothing are known as ...

o0 wm>

chain stores.

factory outlet.

discount fashion stores.
speciality stores.

(1)

(1)

(1)

(1)

(1)

(1)

(1)



CONSUMER STUDIES (NOVEMBER 2011)

1.1.16

1.1.17

1.1.18

1.1.19

1.1.20

1.1.21

1.1.22

A street vendor sells ...

out-of-season clothes.

inexpensive clothes obtained from factory outlets.
a large variety of products at reasonable prices.
second-hand clothes.

OO wm>

The wardrobe of a blind person should be colour co-ordinated so
that he/she can ...

removed and put on clothing easily.
feel the textures easily.

easily fasten the clothes.

mix and match without difficulty.

OO wm>

The durability of a carpet is mostly determined by the ...

A length of the pile.

B  surface texture.

C density of the pile.

D type of carpet backing.

... balance is created when chairs are placed around a round table.

A  Curved
B Horizontal
C Vertical
D Broken

These lines will create a formal effect in a room:

A Curved
B Horizontal
C Vertical
D Broken

The natural paths that people follow when entering or leaving a
room are ...

A  traffic areas.
B traffic patterns.
C direct routes.
D indirect routes.

Which of the following are safety features of a home?

Good lighting and doors which opens easily.
Free movements and large bedrooms
Large living spaces and expensive furniture
New equipment and functional furniture

OO wm>

(1)

(1)

(1)

(1)

(1)

(1)

(2)
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1.2

1.3

1.4

1.1.23  Four families bought curtains of more or less the same quality for
their living rooms. Which family probably paid the most for their
curtains?

A Family A compared prices and quality in several outlets
before they bought the curtains.

B  Family B asked a local decorator to make and hang the
curtains.

C  Family C shopped around for the best price for fabric of their
choice and made the curtains themselves.

D  Family D bought and charged the curtains to their account
and the account is 3 months interest free.

Match the function (COLUMN B) to the nutrient in COLUMN A. Write the
correct letter (A — E) of COLUMN B next to the question number (1.2.1 -
1.2.4) on the answer sheet.

COLUMN A COLUMN B
NUTRIENT FUNCTION

1.2.1 | Calcium A | Transport oxygen in the blood.
1.2.2 | Copper B | Structure for bones and teeth.
1.2.3 | Chromium C | Glucose and energy metabolism.
1.2.4 |lIron D | Help to prevent osteoporosis.

E

Iron metabolism.

(4x1)

Match a description (COLUMN B) with the food outlet (COLUMN A). Write
the letter (A — E) next to the question number (1.3.1 — 1.3.3) on your
answer sheet.

COLUMN A COLUMN B
FOOD OUTLET DESCRIPTION
1.3.1 | Speciality store | A | The producer delivers goods to the house.
1.3.2 | Door-to-door B | In garages, in neighbourhoods.
retailing

1.3.3 | Supermarkets C | Sell a particular product line only.
D | Sells prepared food only.
E | A wide variety of food products is available.

(3x1)

Rewrite the steps for planning a budget in the correct order. Write the
corresponding letters (A - E) in the correct order next to the question
number (1.4.1 - 1.4.5) on your answer sheet.

List your income

Evaluate your budget and make adjustments
Assess your needs and goals

Estimate and list your expenditure.

Draw up a spending plan.

moowy

TOTAL SECTION A:

(2)

(4)

3)

(5)
40
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SECTION B: FOOD AND NUTRITION
QUESTION 2

2.1 Study the case study below and answer the questions that follow.

Robin makes his own lunch for school every evening before he goes to
bed. He leaves his lunch tin on the table with his school bag so he does
not forget it at home. He usually buys 500 ml of milk at the café on his way
to school every day to have with his food during the morning break.

Robin has the following in his lunch tin.

e asmall chicken pie

e two hard-boiled eggs

e one grated cheese white-bread sandwich

e one 500 m{ bottle of milk

2.1.1 The contents of this lunch tin do not form a balanced snack.
Explain why not. (2)

2.1.2  Specify, which micro-organism will most likely spoil the food in
Robin’s lunch tin on a very hot day, then indicate which foods are
most likely to be at risk (exclude the beverage). 4)

2.1.3 Suggest THREE ways in which Robin could prevent or delay the
spoilage of the food in his lunch tin. 3

2.2 List and discuss FIVE nutritional requirements that are important in the
diets of young children (pre-schooler). (20)

2.3 Distinguish between good and bad fats by placing the following fats in the
table below. Provide a reason for your answer and an example of each.
o Saturated fats
o Mono-saturated fats
o Trans-fatty acids
. Polyunsaturated fats

Tabulate your answer as follows:
Bad fats Good fats
Name of fat | Reason Example | Name of fat Reason | Example

(12)
2.4 Why is it important to include fibre in your diet? 4)
2.5 Evaluate the safety of food sold by a street vendor. (5)

TOTAL SECTION B: 40
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SECTION C: CLOTHING

QUESTION 3

3.1

Match the figure shape indicated in the table with a suitable outfit for that
shape shown in the illustration A — E. Then give a reason for your answer.

(A letter may be used more than once.)

Tabulate your answer as follows:

Figure shape Selected outfit Reason
1 Wide hips 1) 2
2 Wide shoulders (2) (2)
3 Curvy (2) (2)
4 Tall/slim @ (2)
5 Short, heavy figure (1) (2)

(15)
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3.2

3.3

3.4

Study the picture and answer the questions that follow.

3.2.1 Discuss the type of lines used in this design and the effect that
they have on the figure.

3.2.2 Identity the type of balance used in this outfit.

3.2.3 What type of texture should be used for this outfit?

Answer the following questions with regard to rhythm.

3.3.1 Explain rhythm as a design principle.

3.3.2 Give FOUR ways how rhythm can be achieved in a design.

Discuss FOUR criteria for clothing for people in wheelchairs.

TOTAL SECTION C:

(6)
(2)
3)

(2)
(4)
(8)
40
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SECTION D: HOUSING AND SOFT FURNISHINGS

QUESTION 4

4.1

4.2

4.3

4.4

4.5

From the list below, select THREE characteristics which good quality
towels should have:

Good draping quality
Absorbency
Colourfastness
Strength during use
Good conductor of heat
Reaction to stains

Compare the advantages and disadvantages of using cotton curtains.

Tabulate your answer as follows:

Advantages of cotton curtains Disadvantages of cotton curtains

(5) 3)

Discuss the following criteria a consumer should keep in mind when
buying furniture:

4.3.1 Maintenance
4.3.2 Preference and lifestyle of the family

Suggest suitable fabric finishes which would make the following household
items durable and practical to use.

Tabulate your answer as follows:

Household items Fabric finish
4.4.1 Mattress covers D
4.4.2 | Table linen (2)
4.4.3 | Sheets (2)

Explain why plastic furniture is ideal for use in the garden.

3)

(8)

(3)
3)

(5)
3)
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4.6 Study the case study and sketch and then answer the questions that follow.
Thandi and Kabelo are a newly married couple. Both work all day and
Kabelo studies part-time. Kabelo’s parents have helped him to convert
their double garage into a flat for them.
X 1
dnar/
—
il
=
=3
(v]
o>
@
= —
LFLAE iEf// Jiiil: =) ™
cupboard window window
4.6.1 Identify the different areas that Thandi has created. (3)
4.6.2 Explain how Thandi has provided for the traffic flow pathways. (2)
4.6.3 As this is a small living area make suggestions for creating a feeling
of spaciousness regarding:
(a) the wall covering
(b) the floor covering
(c) the window covering (6)
4.7 Analyse the living area to determine if Kabelo’s needs for study facilities
have been met or not and give examples to motivate. 4)
TOTAL SECTIOND: 40
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SECTION E: THEORY OF PRACTICAL OPTION = FOOD
QUESTION 5

5.1 List THREE criteria an entrepreneur would have to consider when
choosing/selecting a quality product for small-scale production.

5.2  Explain how you would store muffins to retain the nutrients and quality.

5.3 Study the recipe and answer the questions that follow:

Cream Scones (12 Scones)

500 m¢{ Flour

2mf Salt

509 Butter

1 Egg

125 mf Cream

25 mf Sugar

Method

1. Sieve the dry ingredients (not the sugar).

2. Rub the butter into the flour mixture.

3. Beat the egg and cream and cut it into the mixture with a knife, until
just mixed.

4. Roll out to a 15 mm thickness, cut into shapes, and bake for 10 -
12 minutes in a warm oven (200 °C).

5.3.1 Classify the flour mixture in the recipe.
5.3.2 List TWO characteristics for the appearance of the scones.

5.3.3 Explain how you would adapt the recipe to make it economically
viable (cheaper).

5.3.4 How would you adapt the recipe to improve the nutritional status
and justify your choice?

3)
3)

(1)
(2)

(4)

(4)
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5.4

5.5

5.6

Use the table below to calculate the cost of one recipe:

Conversion table

VOLUME
INGREDIENTS/ 1 tsoftl 1 tbsp/ Ya % cup/ 1 cup/
BESTANDDELE 5 nrw)!z eetlepel cup/kop koppie koppie
15m¢ 62,5 m{ 125 m¢ 250 m¢{
Baking powder/Bakpoeier 49 12 g 509 100 g 200g
Butter/Botter 59 15¢ 60 g 1159 2309
Cake Flour/Koekmeelblom 39 99 30¢g 60 g 120g
Salt/Sout 59 159 7049 140 g 28049
Sugar/Suiker 49 12 ¢ 509 100 g 200 g
Copy this table onto your folio paper:
Calculation
. Purchasing Quantity | Conversion | Amounts used x
Ingredients Unit Cost Used ml to g/kg Purchasing cost Total
Purchasing Unit
Flour 1kg R30,55 | 500 m{
Baking
Powder 100 m¢ R10,45 | 15 m{
Salt 10g R0,25 2mf
Butter 125¢g R12,35 [ 50¢g
Cream 250 m{ R6,99 125 m¢
Egg 1 dozen R25,00 |1
Sugar 1 kg R15,95 | 25m{
COST OF ONE RECIPE
(22 + 2)

You also had the following expenses:
e Packaging cost R23,00
e Advertising flyers R1,50 per flyer (30 printed and distributed)
e Transportto venue R15,00
Calculate the production price of ONE scone. Show all calculations.
Design a label for the scones as sold per batch. (8+2)

TOTAL SECTION E:

(11)

(8)
(4)
40
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SECTION E: THEORY OF PRACTICAL WORK - CLOTHING

QUESTION 5

5.1 FIVE criteria an entrepreneur would have to consider when
choosing/selecting a quality product for small-scale production.

5.2  Describe how you would stitch/complete a curved seam.

5.3 Explain why it would be wise to make a sample/prototype of the product.

5.4  Discuss how you could reduce the cost of the items you want to sell.

5.5 Calculate the cost of 20 pairs of denim pants/trousers:

Material, pattern Purchasing | Purchasing Number of Actual
etc. unit cost per unit | units bought cost
Denim Metre R25,99 30 R
Pattern Each R23,75 1 R
Interfacing Metre R9,50 10 R
Saddle stitch thread Reel R12,95 5 R
Sewing thread Reel R15,25 10 R
Overlocker thread Reel R9,50 4 R
Zip Each R6,75 20 R
Metal buttons Each R2,50 20 R
Metal studs Each R5,50 80 R
Total cost of shopping list for 20 products | R
5.6 You also had the following expenses:

e Packaging costs R20,00

e Advertising flyers R1,50 per flyer (30 printed and distributed)
e Transportto venue R15,00

e Labour @ R5.00 per hour R5,00 (Total hours 10 hours)

Calculate the selling price of ONE pair of denim pants/trousers at 50%
profit.

Costing

Cost for 20 products

Packaging costs

Advertising costs

Transport

Labour

Total cost

X000 0

Cost of ONE pair of trousers/pants

TOTAL SECTION E:

GRAND TOTAL:

(5)
(5)
(5)
(5)

(10)

(10)

40

200
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ANSWER SHEET / ANTWOORDBLAD

NAME / NAAM

SECTION A / AFDELING A

QUESTION /VRAAG 1.1

NOVEMBER 2011

QUESTION / VRAAG 1.2

111 |[A[B [C [D [() 1.2.1
112 |A|B [C [D [ 1.2.2
113 |A|B [C [D [(@ 1.2.3
114 |A|B [C [D [(@ 1.2.4 (4x1) |4
115 |[A|B [C |[D [(
116 |A|B [C [D [(@)
117 |A|B [C |[D [ QUESTION / VRAAG 1.3
118 |A|B [C |[D (@) 1.3.1
119 |A|B [C [D [ 1.3.2
1.1.10 |A |B [C |[D [() 1.3.3 (3x1)|3
1111 [A |B [C [D [
1112 |[A |B [C |[D [
1113 |A [B [C [D [
1114 |[A |B [C [D [ QUESTION / VRAAG 1.4
1115 |A |B [C [D [() 1.4.1
1116 |A |B [C |[D [ 1.4.2
1117 |[A |B [C |[D [() 1.4.3
1118 |[A |B [C |[D [ 1.4.4
1119 |A |B [C |[D [() 1.4.5 (5x1) |5
1120 |[A |[B [C [D [()
1121 [A |B [C [D [
1122 |[A |B [C |[D [
1123 A |B [C [D [( 28
TOTAL
TOTAAL |40

TOTAL SECTION A:

40



